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CRIEAY| <HEER1> <pER2> <HExI>
< Question 12> .
(RIER) — —
< Question 2> P4 E:Ob\tfi, ;‘tiﬁﬁﬁd)ﬁ%l:lﬁlb
(f1) [ca & (- 7 e h (i-d ™
(p32) T : &
(Ms) |— - 1s there a reason for the rooms to be that shape? (11 words)
(R4 T (51 | 7
(#6) v I
(A1) yal

‘ First, glass has several features that help people to create and use glass in many

[pa2) * ways. Also, their ways of thinking allow them to develop and use many ’1
¢ different glass products one after another. (35 words) a
!

(R3] v (ma) |- ) (R35)

{8961 ' 7

Whlle a father was reading the newspaper, his daughter was trying to answer math
¥ questlons Although she didn’t ask him for help, he gave her the answers. He was
| happy to help her, but she felt disappointed because she wanted to answer them by
l herself. So, before we help someone, we should know their need. (55 words)
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